
Answer for comprehension 2023 specimen comprehension

From passage 1 - factual and process explanation type of question.

1. The author uses the example on how the ants would use their system to discover the
best track to search for food as a way to gather information from all the ants to create a
path. Another example is seen from their discovery of another colony and how they
would fight against it for survival

2. As a group, the people are considered smarter than as individuals as they can achieve
optimal outcomes through group interaction. This is due to the lack of an effective
thinking process to plan with the available resources and and analyze the results as an
individual but their thinning process would be better if they work as a group,

3. It is used as a way for massive group interaction of people where their information is
shared to help them solve certain problems.

4. The power connection as utilized by humans can be seen from the economic and social
aspect. It is a way for the producer to provide more information to consumers in the
market system to facilitate communication about the market activities to ensure that they
have optimal outcome of the economic activities. It is also used by people to solve the
crisis that they would face in their life such as a a breakdown of the rail system.
Information provided by the individuals will help the society to provide aids and support
to the people affected by it. In this process, we can see how the information provided by
personal data would be useful in helping society to manage social crises.

5. The point set out in the paragraph is that the swarming activities of information by
humans shows how the complex management system will solve many problems in the
current and future world in areas that threaten our survival. Fro line 40 - 42, it shows that
we can only solve the world problem as we use the data that we can gather to solve the
problems we would face as the data provide information to manage the disorderly world
and the individual information we gather can be better use together to solve problems
more effectively which is the core advantage of swarming activities.

From passage 3 - Linking ideas, comparative statement

7. The fact that the response will be greater if more information is shared is not reflected in
passage 3 when the author asked for a response or return of information for the data he has
shared. Even if it is responded to, the data responded are too excessive to be read
meaningfully. This shows that the quality of data shared in the digital world is not useful and
representative.



8.the writer shows that when he asks for the response of his privacy data to be returned to him
and it was either just responded in meaningless response or the companies simply refused to
respond to it when it legally enforced.


